LRy

RESiH

VISION®
MIt$iEk | EO1

1 =Gk

1.1 HHE
« DN50-300

12 &g

« GB/T3091 (flJRimtiAHriE FH RN )

* GB/T9163 (Hfinik it F JTC4E4NE )

* GB/T 17395 (LEHNE R\ SME. HE X AVHREZE)

1.3 BXTEEAH
o ZHAFE2.5MPa

© TARHIBORT AT, BEEAVEE AR

1.4 IhfE
o RN, S RER VA R 2 GB5135.11
o PROENIPEERE, FR B4 ) Bl A AR

2\IE

"

I e ey
DS-1451:2.04f

3 BHEHM R
3.1 M. BRERMSEL, 6 GB/T 1348, J#5-QT450-12

3.2 ®RERE (HEiEm)
o AR RERY, 5B 4T RAL3000
o PR

3.3 EWHE:
« EPDM (=JCLW) -

i iR E-40°C £125°C
< PR B, S

EH TR Bk, B8R, Tm=ES,

3.4 122
« GB/T3098.1 ([ HHLIPERE: 124, 24T FIZH:) , 8.84%
. EE.@%%$7 48/J\H_J—5% %ﬁ:ﬁgiv 36@1%

3.5 128
- GB/T3098.2 ('R[ELFHUMIERE: BAEE) , 84
o YRR, 48/NIFS%ER IR, A

FAE | mm TEED | &inH | Eiwmaks 1242 /125 X Y z EAIES]
N MR Mpa N mm g e mm mm mm kg
50 60.3 2.5 7139 2.8 M10x37 2 78 127 52.2 0.6
65 76.1 2.5 11371 2.8 M10x42 2 94 142 52.2 0.7
80 88.9 2.5 15518 2.8 M10x42 2 107 156 52.2 0.8
100 108.0 2.5 22902 2.8 M10x52 2 126 175 52.2 1.0
100 114.3 2.5 25652 2.8 M10x52 2 133 182 52.5 1.0
125 139.7 2.5 38320 2.8 M12x62 2 161 216 54.0 1.5
150 159.0 2.5 49639 2.8 M12x62 2 180 236 54.0 1.7
150 165.1 2.5 53521 2.8 M12x62 2 187 240 55.0 1.7
200 219.1 2.5 94257 3.8 M16x75 2 246 316 66.0 3.3
250 273.0 2.5 146337 4.3 M20x90 2 300 387 70.0 5.2
300 323.9 2.5 205993 4.3 M20x90 2 352 441 70.0 5.9

« EOUNITESR Sk, ASREAMZ T I ARV 48 Sk, 7 i) B (3 4 e Al

o AR H1 5 % i 118 3 T bRk
o BRI S ] B IS IO K A VR T LA
s ZRFR RIS WAZ-14515 LR VR

A PHEVR ) T VA R A5 10 e 0 PA) PR S S AT FR) S R

o T2 IE & LRGN, DN350-600, RIHEFIVISION LMY R Z 51 vA Al ke k.

o

VISION LEEEBHEEZEFARAR | SR T XE&=882215 | 021-5954-6666 | www.visioninc.cn | 1S09001:2008 G =4 RIAE

1



